
! 
Aajno mHgz idvs 

magxr sud 1, rivvar, 23 nveMbr 

pUÔ ]I pu*pdHt wgvan  

p/sHg 
]I pu*pdHt wgvanno jNm Ane 
tp kLya`k 

puStk pUÔ sHg/h pana nH. 161 

 



! 
Aajno mHgz idvs 

magxr sud 2, somvar, 24 nveMbr 

pUÔ ]I sImH\r wgvan 

puStk pUÔ sHg/h pana nH. 4p 

 
 



! 
Aajno mHgz idvs 

magxr sud 3, mHgzvar, 2p nveMbr 

pUÔ ]I bahublI wgvan  

puStk pUÔ sHg/h pana nH. 313 

 

 
 



! 
Aajno mHgz idvs  

magxr sud 4, bu\var, 26 nveMbr 

pUÔ ]I \atkI ivdeh wavI ijnvr  

puStk pUÔ sHg/h pana nH. 303 

 
 



! 
Aajno mHgz idvs 

magxr sud 6, gu$var, 27 nveMbr 

pUÔ ]I mhavIr wgvan  

puStk pUÔ sHg/h pana nH. 264 

 

 
 



! 
× Aajno mHgz idvs × 
magxr sud 7, xuk/var, 28 nveMbr 

pUÔ ]I xaHitna= wgvan  

puStk pUÔ sHg/h pana nH. 20p 

 
 



! 
Aajno mHgz idvs 

magxr sud 8, xinvar, 29 nveMbr 

pUÔ ]I kuH=una= wgvan  

p/sHg Aa@m 

puStk pUÔ sHg/h pana nH. 209 

 



! 
Aajno mHgz idvs 

magxr sud 9, rivvar, 30 nveMbr 

pUÔ ]I dev-xaS5-gu$ pUÔ 

puStk pUÔ sHg/h pana nH. 23 

 
 



! 
× Aajno mHgz idvs × 
magxr sud 10, somvar, 1 iDseMbr 

pUÔ ]I Arhna= wgvan  

p/sHg ]I Arhna= wgvannoe tp 
kLya`k  

puStk pUÔ sHg/h pana nH. 213 

 



! 
Aajno mHgz idvs  

magxr sud 11, mHgzvar, 2 iDseMbr 

pUÔ ]I mÂLlna= wgvan  
]I nimna= wgvan 

p/sHg 

1.]I mÂLlna= wgvanno jNm kLya`k, tp 
kLya`k Ane kevz&an kLya`k 
2.]I nimna= wgvanno kevz&an kLya`k 
3. palej ijnmHidrma ]I AnHtna= 
wgvannI veid p/it¤a, iv.sH. 2013, 
ta.13.12.19p6 

puStk pUÔ sHg/h pana nH. 218 



! 
× Aajno mHgz idvs × 
magxr sud 12, bu\var, 3 iDseMbr 

pUÔ ]I nimna= wgvan  

puStk pUÔ sHg/h pana nH. 230 

 
 



! 
Aajno mHgz idvs 

magxr sud 13, gu$var, 4 iDseMbr 

pUÔ ]I muinsuv/tna= wgvan 

puStk pUÔ sHg/h pana nH. 222 

 

 
 



! 
Aajno mHgz idvs 

magxr sud 14, xuk/var, p iDseMbr 

pUÔ ]I Arhna= wgvan 

p/sHg 
1.]I Arhna= wgvanno jNm 
kLya`k 
2.caEdx 

puStk pUÔ sHg/h pana nH. 213 

 



! 
Aajno mHgz idvs 

magxr sud 1p, xinvar, 6 iDseMbr 

pUÔ ]I sHwvna= wgvan 

p/sHg ]I sHwvna= wgvanno tp 
kLya`k 

puStk pUÔ sHg/h pana nH. 12p 

 



! 
× Aajno mHgz idvs × 
magxr vd 1, rivvar, 7 iDseMbr 

pUÔ SvanuwUit tI=R suv R̀purI pUÔ 

puStk tI=R mDHl iv\an pUÔ pana nH.46 

 
 



! 
Aajno mHgz idvs 

magxr vd 2, somvar, 8 iDseMbr 

pUÔ ]I neimna= wgvan 

puStk pUÔ sHg/h pana nH. 239 

 
 



! 
Aajno mHgz idvs  

magxr vd 3, mHgzvar, 9 iDseMbr 

pUÔ ]I Aaidna= wgvan  

puStk pUÔ sHg/h pana nH. 116 

 

 
 



! 
Aajno mHgz idvs  

magxr vd 4, bu\var, 10 iDseMbr 
pUÔ ]I Aijtna= wgvan  

puStk pUÔ sHg/h pana nH. 120 

 

 
 



! 
Aajno mHgz idvs 

magxr vd p, gu$var, 11 iDseMbr 

pUÔ ]I AiwnHdn wgvan 

puStk pUÔ sHg/h pana nH. 129 

 

 
 



! 
Aajno mHgz idvs 

magxr vd 6, xuk/var, 12 iDseMbr 

pUÔ ]I sumitna= wgvan  

puStk pUÔ sHg/h pana nH. 133 

 
 



! 
Aajno mHgz idvs 

magxr vd 7, xinvar, 13 iDseMbr 

pUÔ ]I pÍp/wu wgvan  

puStk pUÔ sHg/h pana nH. 138 

 
 



! 
Aajno mHgz idvs 

magxr vd 8, rivvar, 14 iDseMbr 

pUÔ ]I kuHdkuHdacayR dev 

p/sHg 
1.]I kuHdkuHdacayR devno AacayR 
pdvI idvs 
2.Aa@m 

puStk pUÔ sHg/h pana nH. 37p 

 



! 
Aajno mHgz idvs 

magxr vd 9, somvar, 1p iDseMbr 

pUÔ ]I supa¬Rna= wgvan  

puStk pUÔ sHg/h pana nH. 14p 

 
 



! 
Aajno mHgz idvs  

magxr vd 9, mHgzvar, 16 iDseMbr 

pUÔ ]I cHãp/wu wgvan 

puStk pUÔ sHg/h pana nH. 1p0 

 

 
 



! 
Aajno mHgz idvs  

magxr vd 10, bu\var, 17 iDseMbr 

pUÔ ]I xItlna= wgvan 

puStk pUÔ sHg/h pana nH. 16p 

 
 



! 
× Aajno mHgz idvs × 

magxr vd 11, gu$var, 18 iDseMbr 

pUÔ ]I pa¬Rna= wgvan  
]I cHãp/wu wgvan 

p/sHg 

1.]I pa¬Rna= wgvanno jNm 
Ane tp kLya`k 
2.]I cHãp/wu wgvanno jNm Ane 
tp kLya`k 

puStk pUÔ sHg/h pana nH. 24p 



! 
Aajno mHgz idvs 

magxr vd 12, xuk/var, 19 iDseMbr 

pUÔ ]I ]eyaHsna= wgvan 

puStk pUÔ sHg/h pana nH. 17p 

 
 



! 
Aajno mHgz idvs 

magxr vd 13, xinvar, 20 iDseMbr 

pUÔ ]I xItlna= wgvan 

p/sHg ]I xItlna= wgvanno kevz&an 
kLya`k (magxr vd 14- Ùy) 

puStk pUÔ sHg/h pana nH. 16p 

 



! 
Aajno mHgz idvs 

magxr vd 30, rivvar, 21 iDseMbr 

pUÔ AnHt tI=Åkr pUÔ 

puStk AnHt tI=Åkr puStk 

 

 


